(Bet—1)
TR
#HE | AmEWE|] % E D R 2 1% WA
=
fiE
AR V4L R T EZREAEAS A S T L A S e TS <Y S fifs T S5y T g =
P TH IR PES51000  HH B T ST [ A
7L = X GE A N - i £
SRR TS TS < AR AZ T L it 55 i =R A DU ;B H 4]
CNEE T —3 BT P & E A H AFEGESH A
==y 2 S
BAREHELR  —X % T % & 4 A A AF64E10H 31H
SR TR — 3k
I R T T G BRI AT
TR 5
x| S Ec =g
PR TRSERER T !
a7 —hEopE . ENEAE 2,699.64m B 4 A AFI64EA A

OB



NS
[] VTR

R

% 5 An i B #% B @ & %
[HEEE TO2ILHEBRTERBEXTEEE PHNTINEEZHRLESEMOCYEEELIS
A ERIFE
I REIF = 1.0 22,958, 905
I REIE (HHRHKE) = 1.0 29, 995, 830
M SMEIFE ERbHUVEIHERR) = 1.0 26, 740, 700
NV SMEIE =® 1.0 4,917,988
BEEISEH 84,613, 423
B. #&#&
HERERE = 1.0 1,382, 795
RiGEHEE = 1.0 4,398, 725
—REEE = 1.0 5, 694, 305
HBEE 11, 475, 825
A 9,248
T =1l 96, 080, 000
HERF 9, 608, 000
a &t 105, 688, 000




ﬁ‘ff%i% £ 2 BX

% 5 h i B & & B @ = ¥ (BEIE)

(I REIE]

A BERIEE
1 RIS = 1.0 1,288, 200
2 HNEIE = 1.0 19, 435, 408
3 BREFHEIE =® 1.0 2,235,297
EERIEEET 22, 958, 905

B. &%

HEREEE = 1.0 561, 167
RGEEE = 1.0 1, 449, 286
—REEE = 1.0 2,496, 936
HBEES 4,507, 389
A 6,294
T =1l 27, 460, 000
HEMF 2,746, 000
a &t 30, 206, 000




% = L (E@RIE)
(IRMEIE HHRZELS) )
A BERIEE
1 HHFREISE 1.0 2,178, 000
2t 1.0 27,817, 830
EERIEEET 29, 995, 830
B. &%
HEREEE 1.0 56, 628
RGEEE 1.0 149, 944
—REEE 1.0 238, 457
HBEE 445, 029
A 859
T =1l 30, 440, 000
HEMFE 3, 044, 000
& &t 33, 484, 000




ﬁ‘ff%i% £ 4 BX

% 5 An i B & & B @ & % (BRH VBRI E)
(MNBEFETIE BRHOLEIHER) ]

A ERIFE
1 BROVEIHESRERETIS = 1.0 26, 740, 700
BEEISEH 26, 740, 700

B. #&#&

HERERE = 1.0 152, 000
RiGEHEE = 1.0 429, 495
—REEE = 1.0 1,179, 900
HBEE 1,761, 395
A 2,09
T =1l 28, 500, 000
HERF 2, 850, 000
a &t 31, 350, 000




% = L

(Vs ETIE]

A BERIEE
1 ERERIE 1.0 4, 645, 988
2 REIF 1.0 272,000
EERIEEET 4,917, 988

B. &%

HEREEE 1.0 613, 000
R5EEE 1.0 2,370, 000
—REEE 1.0 1,779,012
HBES 4,762,012
0
T =1l 9, 680, 000
HERF 968, 000
& &t 10, 648, 000




